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>>> vowels = {'a", 'e', "i", 'o', 'u'}
>>> vowels
{'i', '0" 'u" |q|, 'el}
>>>
>>> letters = set('alice')
>>> letters

{'1‘! 'i" ‘c" 'q" 'e'}
>>>

>>> set()

set()
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e len(s) : :REIsHP7TEBITEL

e xinS : YNEx{ESH, REITrue, ZN|False

e add(x) : B ExMNESR

e discard(x) : NExEESP, HIBRE

>>> len(vowels)
5
>>> 'e
True
>>> vowels.add('y")
>>> vowels

‘i'a 'O', 'y's 'U', 'O', 'e'}
>>> vowels.discard('y")
>>> vowels

'i', 'o', 'u', 'a', 'e'}
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>>> S = set('abc")
>>> T = set('cd") )
s>> S | T >>> S.union('cd")
{'C', 'G', 'b', ,d,} '{'b', ld', 'C', 'Q'}
>>> S & T >>> S.intersection('cd")
'{'C'} -{'c'}
>>> § - T >>> S.difference('cd")
{lbl’ |al} -{'b" 'a'}
s>> S AT >>> S.symmetric_difference('cd")
{lbl, |ql’ 'd'} {'bl’ 'a', 'd'}
>>> S.issubset('abcd")
True
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ldef remove_duplication(L):

2 res = []

3 for e in L:

4 if e not in res:
5 res.append(e)
6 return res

7

8def remove_duplication_v1(L):
9 return list(set(L))

xR
>>> set([1, 2, 1, 3, 2, 4, 5 =
{1, 2, g,[ 4, 5} D ZHERERT !!
>>> set('hello") BEFAERETRNIIR

{'e', 'O', I'Ll, 'h'}
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ldef jaccard_sim(S, T):

2 if S.union(T):

3 return (len(S.intersection(T)) /
4 len(S.union(T)))
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